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BEAR Y TINARUT N=X2Thv ouT ¥ %% % ¥ % I N ¥ X%k %% %
FRHD BEf 36 % 36
L K # ouT IN GROSS HDCP NET N1z K % out [N GROSS HDCP NET BT K % ouT IN GROSS HDCP NET
1 |FE BFRXER 36 43 79 10. 8 68. 2 51 |TTE #%F 38 38 76 3.6 72. 4 101 | R4 T# 40 49 89 15: 8 73. 4
2 B 1HE 47 44 9 21. 6 69. 4 52 |LAEZEER 35 41 76 3.6 72. 4 102 |58 BH 91 44 95 21.6 73. 4
3 |AEILES 36 36 72 2.4 69. 6 53 |#BHE=ER 37 39 76 3.6 72. 4 103 [#lH E= 51 50 101 27.6 73. 4
4 |'BH A 37 35 72 2.4 69. 6 54 |EH {£8 41 41 82 9.6 72. 4 104 (AR =i 38 38 76 2.4 73.6
5 B0 &2 38 40 78 8.4 69. 6 55 |3 m Gt 41 41 82 9.6 72.4 105 (#L HMEHA 44 38 82 8. 4 73. 6
6 |BER B 36 35 71 1.2 69. 8 56 |=ihiE A 41 41 82 9.6 72. 4 106 |8 Fkk 42 40 82 8.4 73. 6
7 |HH FX 43 40 83 13. 2 69. 8 57 | BBk 42 40 82 9.6 72. 4 107 |&)$F 44 44 88 14. 4 73.6
8 |HAE IR 38 38 76 6.0 70. 0 8 |ZT LER 40 42 82 9.6 72. 4 108 |#BEHTE] 44 44 88 14. 4 73. 6
9 [<HE #& 40 42 82 12.0 70.0 5 |KEH &— 42 46 88 15. 6 72. 4 109 £ 187 45 43 88 14. 4 73 6
10 |BEH  ZEsa 39 43 82 12.0 70.0 60 |BE il 46 48 94 21. 6 72. 4 110 |8E A 38 50 88 14. 4 73.6
1 |EEHRE 46 42 88 18. 0 70.0 61 B #2 36 39 75 2.4 72. 6 1M1 |F) =5k 46 48 94 20. 4 73.6
12 |PiREEZ 39 48 87 16. 8 70. 2 62 |K#: A 33 42 75 2.4 72. 6 112 |28 HA 50 50 100 26. 4 73. 6
13 |UBE F=F 42 45 87 16. 8 70. 2 63 (A= ILIThiE 35 40 75 2.4 72.6 113 D #2z 37 38 75 1.2 73. 8
14 |E# HPIE 48 45 93 22.8 70. 2 64 |#75E 1 42 39 81 8. 4 72. 6 114 |18 i 40 41 81 7.2 73. 8
15 B 82 38 36 74 3.6 70. 4 65 |AIEE 40 41 81 8. 4 726 115 |28 &2 38 43 81 7.2 73. 8
16 A 67t LK 37 a7 74 3.6 70. 4 66 |Meik 1H3E  L4fI 39 42 81 8.4 72.6 116 |ZHh &E 39 4?2 81 7.2 73. 8
17 [EORE{— 40 40 80 9.6 70. 4 67 |=% {588 39 42 81 8. 4 72.6 M7 |TERX 40 47 87 13.2 73. 8
18 |[#54<BIFY 46 40 86 15.6 70. 4 68 |\RE BEE 40 47 87 14. 4 72. 6 118 |15 B 44 43 87 13.2 73. 8
19 |EREE 46 46 97 21. 6 70. 4 69 |=i5 BHZ 43 44 87 14. 4 72.6 119 |8t K& 47 46 93 19. 2 73. 8
20 |[FEH  FHE 51 47 98 27. 6 70. 4 0 14k & 39 48 87 14. 4 72. 6 120 |#B4<BIF| 44 49 93 19. 2 73. 8
21 & &7 38 41 79 8.4 70. 6 71 [WWFER 48 45 93 20. 4 72.6 121 |$8k 3R 50 43 93 19. 2 73. 8
22 | # (5% 44 41 85 14. 4 70. 6 2 |XH#H & 48 45 93 20. 4 72.6 122 |&E $#43 51 48 99 25. 2 73. 8
23 |F1EH T 39 39 78 7.2 70. 8 73 |Z=2)I|BHRE 53 46 99 26. 4 72.6 123 |88 X#n 37 37 74 0.0 74.0
24 |¥Th 1H 38 40 78 7.2 70. 8 74 |tB1E = 51 48 99 26. 4 72.6 124 |Z=hEE 40 40 80 6.0 74.0
25 kA KEH 43 41 84 13. 2 70. 8 75 |#R IETE 38 42 80 7.2 72. 8 126 |23 BA 38 42 80 6.0 74.0
26 (FBERE BEIA 43 40 83 12.0 71.0 76 |BE)IA— 40 40 80 7.2 72. 8 126 |lua& =88 36 44 80 6.0 74.0
27 ;% K 40 43 83 12. 0 71.0 77 |BEHhEEGEF  L5Mu 42 44 86 13. 2 72. 8 127 | KA EEH 43 43 86 12.0 74.0
28 |BRMFE 38 38 76 4.8 71. 2 78 |ImEEEX 45 41 86 13.2 72.8 128 |ME 8— 42 44 86 12.0 74.0
29 | KAEEBA 41 41 82 10. 8 71.2 79 |%)I|BBRE 49 49 98 25. 2 72.8 129 |=F& FA 43 43 86 12.0 74.0
30 [k B 39 43 82 10. 8 71.2 80 |F&% #S 38 41 79 6. 0 73.0 130 |1 B8 == 42 44 86 12. 0 74.0
31 1By BEXK 45 43 88 16. 8 71.2 81 | AAEER 36 43 79 6.0 73. 0 131 [#FE == 40 46 86 12. 0 74.0
32 |AEEFZ 50 44 94 22. 8 7.2 82 |/h\#x HE 45 40 85 12.0 73.0 132 | 42 44 86 12.0 74.0
33 |[BEEA 40 35 75 3.6 1.4 83 |EH HBHF 46 51 97 24. 0 73.0 133 |{5#%55HA 42 50 92 18. 0 74. 0
34 |/l {EZ 40 41 81 9.6 71. 4 84 AL BHE 38 40 78 4.8 73.2 134 | K%t ## 52 46 98 24. 0 74. 0
35 | LEFMA 35 46 81 9.6 71. 4 8 |[HE H=EF 4 37 78 4.8 73. 2 135 |4 HE HxE 53 45 98 24. 0 74.0
36 [#EEL R 39 41 80 8.4 71.6 86 |[FRE A 44 40 84 10. 8 73.2 136 |F EF 48 50 98 24.0 74. 0
37 LER AZEF LI 39 41 80 8.4 71.6 87 |[HE 18 40 44 84 10. 8 73 2 137 |Zeish#htEt 38 41 79 4.8 74. 2
38 |BiEs W& 42 44 86 14. 4 71.6 88 | kKH ——= 43 47 90 16. 8 732 138 |[f£< 7K #BFN 40 39 79 4.8 74. 2
39 |5 R 46 46 92 20. 4 71. 6 89 [HIL {ZXK 45 57 102 28. 8 73. 2 139 [H8O B 44 41 85 10. 8 74. 2
40 |[AfRE FER 41 38 79 7.2 71. 8 90 5B Es 40 37 nl 3.6 73. 4 140 |ARFHEA 43 42 85 10. 8 74. 2
41 [Uaw (4> L3I 46 45 91 19.2 71. 8 91 |8l EE 39 38 7 3:'6 73.4 141 |KIg  #h 47 44 91 16. 8 74. 2
42 |FiH FEX 45 46 91 19. 2 71. 8 92 |l FREE 37 40 il 3.6 73. 4 142 &) 3= 44 47 91 16. 8 74. 2
43 |/ BX 50 47 97 25.2 71. 8 93 |=F=FE ME 42 41 83 9.6 73. 4 143 |{kEE  FRLE 44 47 91 16. 8 74. 2
44 [f£4 K #H 41 37 78 6.0 72.0 94 |HREB X 42 41 83 9.6 73. 4 144 || H— 45 46 91 16. 8 74. 2
45 |RKR FX 42 42 84 12.0 72.0 95 |y BZ 42 41 83 9.6 73. 4 145 |#A7H—ER 39 39 78 3.6 74. 4
46 |[1EARENF 48 42 90 18. 0 72.0 96 |#E4<BIFY 36 47 83 9.6 73.4 146 |mifE =& 37 41 78 3.6 74. 4
47 | #4A) 48 42 90 18.0 72.0 97 |FEIRZ 43 46 89 15. 6 73. 4 147 (Bhzk [EBA 44 40 84 9.6 74. 4
48 |FRER  E=7E 44 46 90 18.0 72.0 98 |HHEHE— 47 42 89 15. 6 73. 4 148 |ZH & 45 39 84 9.6 74. 4
49 |[EO  #817 37 40 7 4.8 72.2 99 [AIE T 45 44 89 15.6 73. 4 149 |8 & 41 49 90 15. 6 74. 4
50 [;EfE  #Rk 45 44 89 16. 8 72.2 100 |KPd 1 41 48 89 15. 6 73.4 150 |#t.E EE 43 47 90 15. 6 74. 4
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LtRHD 5% 36 ZM 36

JE L K % ouT IN GROSS HDCP NET NE £z # ouT IN GROSS HDCP NET g K # out IN GROSS HDCP NET
151 | N3 = 43 47 90 15.6 74. 4 201 |ME B 43 47 90 14. 4 75.6 251 | KARE= 51 51 102 25,2 76. 8
152 |E&E— 44 46 90 15. 6 74. 4 202 |[{REE i 52 44 96 20. 4 75.6 262 |/h]1] 55 41 42 83 6.0 77.0
153 |&4f & 46 50 96 21. 6 74. 4 203 |&5R #FE 44 52 96 20. 4 75. 6 253 |FE B 40 43 83 6.0 77.0
154 | MER 53 49 102 27. 6 74. 4 204 IO #IK 46 56 102 26. 4 75. 6 254 |fE {8 45 44 89 12.0 77.0
155 |AH =¥ 53 58 108 33.6 74. 4 205 (B E& 51 51 102 26. 4 75.6 255 (BB B 45 44 89 12.0 77.0
156 |HeAE 48 60 108 33.6 74. 4 206 |#E_EFnaA 48 54 102 26. 4 75.6 256 (=& B 44 45 89 12.0 77.0
157 [$REH JefE 38 39 77 2.4 74. 6 207 |ROEiE 48 54 102 26. 4 75.6 257 |iFIEF #R1E 46 43 89 12.0 77.0
158 KR FHX 42 41 83 8.4 74.6 208 |#Z22lm 50 58 108 32. 4 75.6 258 |Z=IYF 45 44 89 120 77.0
159 /)15 88 40 43 83 8.4 74. 6 209 [ILlEhEsE 46 43 89 13. 2 75. 8 259 |2%k & 42 47 89 12.0 Tl
160 |[FBAFHHF 42 47 89 14. 4 74. 6 210 | BF 11 48 89 13. 2 75. 8 260 [Fri JF 46 49 95 18. 0 77.0
161 |iZf FxE 45 44 89 14. 4 74. 6 211 |WHE  #8— 45 44 89 13. 2 75.8 261 (P9H  HEIR 47 54 101 24. 0 77.0
162 |EE#TE] 46 43 89 14. 4 74. 6 212 |HRFE— 41 48 89 13. 2 75. 8 262 |/hEm @z 44 38 82 4.8 Tl
163 |BEH Ih 47 48 95 20. 4 74. 6 213 =+ BER 48 47 95 19. 2 75. 8 263 |{SB:5508 46 42 88 10. 8 T2
164 Bk M2z 42 53 95 20.4 74. 6 214 |ith t =]l 45 50 95 19. 2 75. 8 264 |ER AX 40 48 88 10. 8 €r.2
165 |LAEZFHFER 36 40 76 1.2 74. 8 215 | K&Fx BX 45 50 95 19. 2 75. 8 265 |EE Fk 48 46 94 16. 8 77.2
166 |ERZE (B3R 42 40 82 7.2 74. 8 216 | #82 38 38 76 0.0 76.0 266 |KHE #H4E 45 49 94 16. 8 77.2
167 @ /= 42 40 82 7.2 74. 8 217 |#F1H HEE 41 41 82 6.0 76.0 267 |HE BT 45 49 94 16. 8 17. 2
168 |ZERiE 43 45 38 13.2 74. 8 218 iR & 39 43 82 6.0 76.0 268 |=)Il #A 43 51 94 16. 8 77. 2
169 |#E8HE=FB 43 45 88 13 2 74. 8 219 | EH JL= 40 48 88 12.0 76.0 269 |ZHRE St 46 47 93 15. 6 77. 4
170 |BRBH 43 45 88 13. 2 74. 8 220 | F@A I3 46 42 88 12.0 76.0 270 |FiHESEB 45 48 93 15. 6 77.4
171 |BEN £ 50 50 100 29 2 74. 8 221 |FHHEE 46 42 88 12.0 76. 0 271 [FE £ 44 49 93 15. 6 77. 4
172 & IR 52 48 100 25.2 74. 8 222 |1SAAIFY 47 47 94 18. 0 76.0 272 |tEBk B 46 53 99 21. 6 77.4
173 [#7LE BEK 53 53 106 31.2 74. 8 223 (#BAH)F 48 52 100 24. 0 76.0 273 (18 B 47 52 99 21. 6 77. 4
174 | R —3h 38 37 75 0.0 75.0 224 | KA —= 60 52 112 36.0 76.0 274 WFER) 50 49 99 21. 6 77. 4
175 | RIEHE = 40 41 81 6.0 75.0 225 (M4 E5 52 60 112 36. 0 76.0 275 |#AF  FEKER 51 48 99 21.6 77.4
176 |7\ )15 8 41 40 81 6.0 75. 0 226 (/NI KL 46 41 87 10. 8 76. 2 276 (k. BN 50 49 99 21. 6 77. 4
177 |89 R4 43 44 87 12.0 75.0 227 |HEiER B 45 42 87 10. 8 76. 2 207 |\FW Bk 48 51 99 21. 6 7.4
178 |EEm 43 44 87 12.0 75.0 228 | BAGL 38 49 87 10. 8 76. 2 278 |EEEFNA 48 57 105 27. 6 77. 4
179 |&H =—Ef 50 43 93 18. 0 75.0 229 |=&  HuH 47 46 93 16. 8 76. 2 279 |Aik =2 A 50 55 105 27. 6 77. 4
180 | BE 47 52 99 24. 0 75.0 230 [#ERITX 55 44 99 22.8 76. 2 280 [LLIGHESE 40 46 86 8 4 77.6
181 K3 41 39 80 4.8 75. 2 231 {7 B— 51 48 99 22. 8 76. 2 281 |FHF = 45 41 86 8 4 77. 6
182 |HEfE S5 40 40 80 4.8 75. 2 232 |BEHAE 52 59 111 34. 8 76. 2 282 (AR Pk 46 46 92 14. 4 77.6
183 |ZER  #i#t 43 43 86 10. 8 75. 2 233 |FE B 49 37 86 9.6 76. 4 283 |zl 43 49 92 14. 4 7.6
184 |E R8N 43 43 86 10. 8 75.2 234 |BB =X 42 44 86 9.6 76. 4 284 |EH MBEHF 53 45 98 20. 4 77.6
185 &K —H 43 43 86 10. 8 75. 2 236 |HER 2 43 55 98 21. 6 76. 4 285 | FA RXK 55 49 104 26. 4 77.6
186 |#FHBFF Y 46 98 2.8 75. 2 236 |/hI &R 38 41 79 2.4 76.6 286 [4hL 3 37 42 79 1.2 77.8
187 |BF47 1K8 52 46 98 22. 8 75 2 237 |F9@\AE 40 45 85 8.4 76. 6 287 s #— 45 40 85 7.2 77. 8
188 |#t EFEA 50 48 98 22.8 75. 2 238 |MRE fB 44 47 9 14. 4 76. 6 288 |= L#HT 42 43 85 7.2 77. 8
189 |BRREEZ 47 51 98 22. 8 75.2 239 |M#& Eth 46 45 91 14. 4 76. 6 289 (EAEAE 42 49 91 13.2 7r 8
190 [P HNE 44 41 85 9.6 75.4 240 (ILA B 44 47 9 14. 4 76. 6 290 KBk $Hhak 46 51 97 19. 2 77. 8
191 |AR# ZR 43 42 85 9.6 75. 4 241 |t B 41 50 91 14. 4 76. 6 201 [k HEF 54 49 103 25.2 77.8
192 | FHiEes 44 47 N 15.6 75. 4 242 |IRAE  {E# 42 55 97 20. 4 76. 6 292 =8 —Z 48 55 103 25. 2 77. 8
193 |84 $ 58 49 42 91 15.6 75. 4 243 |18 fEKER 52 51 103 26. 4 76. 6 293 | K& BE 54 55 109 31.2 77. 8
194 |(MWELT 43 48 9 15. 6 75. 4 244 (BIE BT 50 53 103 26. 4 76.6 294 B Mz 45 45 90 12.0 78.0
195 [ #H0 44 47 91 15. 6 75. 4 245 |1EBE @ 44 40 84 7.2 76. 8 295 |k BIA 48 48 96 18.0 78.0
196 |AH £ 44 47 91 15. 6 75. 4 246 |75k & 42 42 84 7.2 76. 8 296 |BEERE— 47 49 96 18. 0 78.0
197 (Jikg  {E8 48 49 97 21. 6 75. 4 247 |#0L FR3A 41 43 84 7.2 76. 8 297 N4 &+ 46 56 102 24. 0 78.0
198 |k BE 41 43 84 8. 4 75.6 248 |k £ 43 47 90 13.2 76. 8 298 |=fE 5ER 60 54 114 36.0 78.0
199 |8 =R 39 45 84 8.4 5.6 249 |FH) EHZ 45 51 96 19. 2 76. 8 299 e #RER 56 58 114 36.0 78.0
200 ;RIS EHAR 43 47 90 14. 4 75. 6 250 {EBE B 52 50 102 25. 2 76. 8 300 UEfM BH— 42 47 89 10. 8 78.2
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JE 437 K & ouT IN GROSS HDCP NET Bz K %4 ouT [N GROSS HDCP NET NEfL K # ouT IN GROSS HDCP NET
301 [REEZ 44 45 89 10. 8 78. 2 B | B 49 55 104 24. 0 80.0 401 /0 Bt 59 50 109 2h. 2 83.8
302 (RIEHES 46 49 95 16. 8 78. 2 352 |MA FlE 47 44 9 10. 8 80. 2 402 [ILF  #RMA 59 a9 114 30.0 84.0
03 |EE BB 47 48 95 16. 8 78.2 363 |ZHEH RS 47 50 97 16. 8 80. 2 403 [hnEk @|ix 56 h8 114 30.0 84.0
304 & B 49 46 95 16. 8 78.2 354 (lEE sefC 49 60 109 28. 8 80. 2 404 (R SAKEAR 44 51 95 10. 8 84. 2
305 |MEE &=L 53 48 101 22. 8 78. 2 355 [ HE 45 39 84 3.6 80. 4 405 |EA#atsE 5?2 49 101 16. 8 84. 2
306 (M4 Ko LY 49 101 22. 8 78. 2 356 |HHH EE 47 43 90 9.6 80.4 || 406 (F5HE &0 49 64 113 28. 8 84. 2
307 |FKE 50 51 101 22. 8 78. 2 357 |BER (A 52 50 102 21.6 80. 4 407 (EH HBIF 51 55 106 21.6 84. 4
308 R EET 48 53 101 22. 8 78. 2 358 |fEi & F 51 51 102 21.6 80. 4 408 [BA& £ 58 52 110 25.2 84. 8
309 | BE EL 50 51 101 22. 8 78. 2 359 |2H & 56 52 108 27. 6 80.4 || 409 |E@m & 58 57 115 30.0 85.0
310 |BEAREC 55 52 107 28.8 78. 2 360 [M0H E= 49 46 95 14. 4 80. 6 410 | FA KX 62 59 121 36.0 85.0
3 |mH FE 64 49 113 34. 8 78. 2 361 |B=E BEah 49 46 95 14. 4 80. 6 411 | KIZ BT 55 66 121 36.0 85.0
312 |tRE  K#f 49 39 88 9.6 78. 4 362 |EEER EFRE 50 44 94 13.. 2 80. 8 412 |/MIER 53 61 114 28. 8 85. 2
313 (HOH— 45 49 94 15. 6 78. 4 363 |fEA  fFEE 45 49 94 13. 2 80.8 || 413 (&4 Fnin 52 60 112 26. 4 85.6
314 | K@ tEF 54 46 100 21. 6 78. 4 364 |/NEH B 54 h? 106 25. 2 80. 8 414 % EF 57 65 122 36.0 86. 0
315 EH E=E 57 55 112 33.6 78. 4 365 |&FH: AT 53 58 111 30.0 81.0 415 (Bl #%= 53 60 113 26. 4 86. 6
316 (WA IEZ= 47 46 93 14. 4 78.6 366 | 4 53 45 98 16. 8 81.2 416 |l BEF 58 65 123 36. 0 87.0
317 [#iE  ER 47 46 93 14. 4 78.6 367 |BER FIEg 51 47 98 16. 8 81.2 417 |B2H #E 61 62 123 36.0 87.0
318 |#F b 43 50 93 14. 4 78.6 368 |BEER Al | 53 104 22. 8 81.2 418 | EH RXK 54 59 113 25. 2 87.8
319 | A4t 51 48 99 20. 4 78. 6 369 (BEH EX 51 53 104 22. 8 81.2 419 | ILE= 64 61 125 36.0 89.0
320 |#ALL KBS 49 50 99 20. 4 78. 6 370 |E —E 49 h5 104 22. 8 81.2 420 |[AZ FHE 71 54 125 36.0 89.0
321 |RUEAGERE 54 51 105 26. 4 78. 6 N | = =E=E 56 54 110 28. 8 81.2 421 B #— 63 59 122 31.2 90. 8
322 |{kRE 3LE 54 51 105 26. 4 78.6 372 |REAx A 56 53 109 27. 6 81. 4 422 |&K B8P 67 60 127 36.0 91. 0
323 |MTE BEC 52 53 105 26. 4 78.6 373 B EE 44 46 90 8.4 81.6 || 423 [BEi#E B0 63 64 127 36.0 91. 0
324 | LEHS 50 55 105 26. 4 78.6 4 |HE = 51 45 96 14. 4 81.6 | 424 |F9A &RFH 64 63 127 36.0 91.0
325 |3 Hib 56 55 AR 32. 4 78. 6 375 |;5H = 42 54 96 14. 4 81. 6 425 |3 B 67 61 128 36.0 92.0
326 |tkE EBE 42 44 86 7.2 78. 8 376 |5EF (& 44 52 96 14. 4 81. 6 426 |/l 1F 58 71 129 36.0 93.0
327 & =E—AR 48 44 92 13. 2 78. 8 37 | LBy = 52 50 102 20. 4 81.6 427 |#K =R 65 64 129 36.0 93.0
328 |ABE BEF 50 48 98 19. 2 78. 8 378 @ JFz 60 48 108 26. 4 81.6 428 |{EBE EA 61 69 130 36.0 94. 0
329 |BEE BEA 48 49 97 18.0 79.0 379 |F ¥ H 53 61 114 32. 4 81. 6 429 |BEF EA 63 68 131 36.0 95.0
330 A (B 48 49 97 18. 0 79.0 380 | =58 40 55 95 13. 2 81.8 430 (Al #E— 70 62 132 36.0 96. 0
331 |&2H E— 47 50 97 18.0 79.0 381 [#alh &H# 46 bh 101 19. 2 81.8 431 |FHL Et 63 73 136 36.0 | 100.0
332 |BH ERE 53 50 103 24. 0 79.0 382 |RE EKER 59 48 107 25 2 81.8 || 432 |UfE RE4 75 79 154 36.0 | 118.0
333 "hE FiA 40 50 90 10. 8 79. 2 383 |BF e = 62 45 107 25.2 81.8 433 |gilE  REUK 87 87 174 36.0 | 138.0
334 | EH L= 48 48 96 16. 8 79. 2 384 |FUE = 53 54 107 25. 2 81. 8
336 |{EB% =E# 43 53 96 16. 8 79. 2 385 BB RA 60 53 113 31. 2 81. 8
336 |1kBE E® 41 42 83 3.6 79.4 || 386 |[{EEEEX 48 46 94 12.0 82.0
337 (#al kL 45 50 95 15.6 79. 4 387 (shL HEsE 53 59 112 30.0 82.0
338 |TFHmrEm 49 52 101 21.6 79. 4 388 |HE 1EE 57 61 118 36.0 82.0
339 |{RMUKER 60 47 107 27.6 79.4 389 |&ZE K 60 58 118 36.0 82.0
340 /hx BB 52 55 107 27. 6 79. 4 390 [k FEEE 52 53 105 22.8 82. 2
341 AL finte 5 56 107 27. 6 79. 4 391 |ZREEALE 48 57 105 22. 8 82. 2
342 |=H BHH 47 47 94 14. 4 79.6 392 |AEREFE{C 59 51 110 27.6 82. 4
343 |EH FBE 53 53 106 26. 4 79. 6 393 [/hEfE— 43 48 91 8.4 82. 6
344 |FAFE—AR 46 47 93 13.2 79. 8 394 |MAA K 50 53 103 20. 4 82. 6
345 |y FRIA 52 47 99 19. 2 79. 8 395 |ZHEA h3 50 103 20. 4 82. 6
346 |7HBA ZK 44 55 99 19. 2 79.8 39 [=1EF &1l 59 56 115 32.4 82. 6
347 JEHE $#88 53 52 105 25. 2 79. 8 397 |HE E— 44 51 95 12. 0 83.0
348 |Hep & 45 41 86 6.0 80. 0 398 (¥ L HA of 50 107 24. 0 83.0
349 |BH & 43 43 86 6.0 80. 0 399 |BEKREC 56 56 112 28. 8 83.2
350 |HPREK 43 55 98 18. 0 80. 0 400 [\h# B3 56 55 111 27. 6 83. 4
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